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Time allowed: 20 Minutes

PHYSICS SSC-lI
SECTION — A (Marks 12)

Revised Syllabus

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use tead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(1)

(i)

(iv)

(vii)

(Vi)

(ix}

(i)

When uranium {92 protons) ejects a beta particles, how many protons will be in the remaining nucleus?

A 89 protons B. 90 protons C. 93 protons D. 91 protons
In case of vibratory motion, time period is reciprocal of the:
A Velocity B. Wavelength C. Frequency D. Distance
How many times speed of sound is greater in water than air?
A. 2 times B. 3 times C. 4 times D 5 times
In concave mirror, which surface is reflecting?
A Inner curved surface B. Outer curved surface
C. Side of mirror D. All of these
Endoscope which is used to diagnose bladder is called:
A Gastroscope  B. Cystoscope  C. Bronchoscope D. Microscope
Capacitance is define as'
A Z B. 5 C. oV D. K
C v o
When we double the voltage in a simple circuit, we double the:
A Current B. Power C. Resistance D. BothAand B

The unit of e.m.fin S 7 system is volt, which is equal to:

A, J B. Jm’! C. A D. JC
Cell phone network system consists of:

A Base station B. Mobile switching centre

C Celis D All of these

During fission of 1 kg of uranium-235 energy is released.

A 6710/ B. 65% 10°J

C. 60x10%J D. 66x10°J

What does the term e-mail stand for? '

A Emergency mail B. Electronic mail

C. Extra mail D. Externai mail

In case of OR and AND operation, if switches S, and S, both are open then the lamp is:
A. ON B. OFF
C Some times ON and some times OFF D Neither ON nor OFF
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Time allowed: 2:40 Hours

/8

PHYSICS SSC-I

Revised Syliabus

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33}
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (1M1 x3=33)
(i) What do you mean by electron volt? Give the relation between “ev” and Joule.
(i) Define the following terms and also give their units:
a. Frequency b. Amplitude C. Time period
(i) A sound wave has a frequency of 2 kHz and wavelength 35 cm. How long will it take to travel distance
of 1.5 km?
(iv) Define refractive index. Write two different formulas for it.
(v) Under what conditions converging lens form a virtual image? Show by ray diagram.
(vi) What is optical fibre? How does light travel through it?
(vii) Why are lightning conductors used in tall building?
(viii) Diamond cannot conduct electricity but conduct heat. Why?
(ix) How can you find direction of magnetic field due to solenoid? Explain the method.
(x) Define induced e.m.f and write the factors on which it depends.
(xi) Considering an oscilloscope, explain why a large potential is applied between anode and cathode.
(xii) What do you mean by primary memory and secondary storage devices in computer? Give examples.
(xiii)  What is OR gate? Draw its symbol and truth table.
(xiv)  Define Nuclear Transmutation. Give one example.
(xv) What is meant by Carbon dating? Explain its uses.
SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a Define resistance and resistivity. On which factors resistance depends? Derive formula forit. (2+2+2)
b. A transformer designed to convert the voltage from 240V AC main to 12 V AC has 4000 turns

on primary coil. How many turns should be on the secondary coil? (04)

Q.4 Define different characteristics of sound. (06)

Draw circuit diagram for house safety alarm and label it. (04)

Q.5 Write sign convention for Lenses. (06)
b. Carbon-14 has half life of 5730 years. How long will it take for the quantity of Carbon-14

(04)

1
in @ sample to drop to 3 of the initial quantity?
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PHYSICS SSCHlI
SECTION — A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C /D, Each part carries one mark.

(i} Speed of light in water is approximately:
A 2.0%10%ms™ B. 23x10%ms™!
C. 3x10%ms™! D. 3% 10" ms ™!

(i) The half life of a certain isctope is 1 day. What is the quantity of isotope after 2 days?
1

A ! B. 1 C. — D. None of these
2 4 3
(i) If speed of sound is 340ms ™' at normal temperature in air we can hear the echo after:
A 1 second B. 0.2 second C. 0.1 second D. 2 second
(iv) Image formed by a camera is:
A Real, inverted and diminished B. Virtual, upright and diminished
C. Virtual, upright and magnified D Real, inverted and magnified
(v) Five joules of work is needed to shift 5C of charge from one place fo ancther, the potential
difference between the places is:
A 1 voit B. 2 volt C. 3 volt D. 4 volt
(vi) Which one is incorrect when three capacitors are connected in parallel?
A. W=r=r=Vr i B. Q=0 +0, +0
C. Cop =G+ G+ G D. Q=0==0
(vii) What is power rating of a iamp connected to a 12V source when it carries 2.5 A current?
A 48W B. 145 W C. 0w D 80 W
(viiiy  The turn ratios of a transformeris 10. it means:
A I, =101, B. N, :]IV—(’)’ C. N =10N, D. V,=V,x10
(ix) Total force on the armature can be increased by increasing:
A The number of turns on coil B. The current in the coil
C. The area of coil D. All of these
(x) The screen of a cathode-ray oscilioscope consists of a thin layer of:
A, Alminum B. Postassium C. Phosphor D. Sulphur
(xi) NOT-Gate is also called:
A Convertor B. Invertor C. Adder D Subtractor

(xit) C.D (Compact disk) can store computer data:
A 680 mega byte
C. 620 mega byte D. 610 mega byte

w

1000 mega byte

For Examiner’s use only:

Total Marks: 12
Marks Obtained: l:]
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Time allowed: 2:40 Hours

Do
PHYSICS SSC-lI

Revised Syllabus

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3=33)

Note:

Q.3

() Write three uses of C.R.O.

(i) Find the time period and frequency of simple pendulum 1.0 m fong at a location where g = 10.0ms ™2
(i Explain is there any difference between echo and reflection of sound? What is condition for echo?
(iv) Define the foliowing terms applied to a lenss:

a. Principal axis b. Optical centre C. Focal length

(v) How would you suspend 500,000 pounds of water in air without visible means of support?
(vi) Write the Laws of refraction.
(vii) How does the phenomenon of lightning cccur?
(viii) What is the difference between A.C and D.C?
(ix) Explain Lenz's Law.
{x) Why a bird can sit harmlessly on high tension wire? Explain.
(xi) Why is optical Fibre more useful tool for communication?
(xii) Wirite full names of the following abbrivations in view of |.T:
a. M.S.C b. CB.LS C. AF
(xiii)y  What is difference between hard disk and compact disk?
(xiv)  What is meant by background radiation? Write the name of main sources of background radiation.

{xv) Write the nature of Alpha particles, Beta particles and Gamma radiations.

SECTION - C {(Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)
a. What is compound microscope? Explain its construction and magnification with the help of ray
diagram? (06)
b. The force of repulsion between two identical positive charges is 0.8 N. When the charges
are 0.1m apart, find the value of charges. (04)
a. Discuss the main features of parallel combination of resistors and derive formuia for equivalent
resistance. (06)
b. Calculate the one month cost of using 50 W energy saver for 8 hours daily if price of a unit
is Rs 15. (04)
a. What is transformer, explain working construction and principle of transformer and aiso
(06)

give its types.
b. Write four uses of radicisotopes. (04)
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Answer Sheet No. 2 /

Sig. of Invigilator.
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PHYSICS SSC-II
SECTION — A (Marks 12}

(Ol Syllabus)

Time alilowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
(i) After removing the external force in the mass spring system, the mass moves towards its equilibrium
position due to:

A Reaction force B. Restoring force

C. Gravitational force D. Frictional force
(i) If the image is virtual, the distance from the lens is taken as:

A Positive B. Negative C. Double D. Half
(i) Electron volt (ev) is the unit of:

A Energy B. Current

C. Potential difference D. Power

(iv) Which is the formula for the electric power?

A IR B ZtR c. IR D. IR
V) Faradays law states that the value of the induced e.m.fis:

A Directly proportional to the rate of change of current

B. Directly proportional to the rate of change of electric flux

C. inversely proportional to the rate of change of magnetic flux

D. Directly proportional to the rate of change of magnetic flux

{vi) The product of frequency and time period is equal to:

A vV B. 1 C. 0 D. A
(vil) The formula for the specific resistance is:
LA L L AL
A- R=— B. R=p— C. = — ) = ——
p P4 P= a4 P P~

{viii) if two inputs of a NAND gate are A and B, its output wouid be zero when:
A A=0 , B=0 B A=1 | B=0 C. A=1 | B=1 D. A=0 , B=1
(x) The particle which is not affected by electric and magnetic field is called:

A a -Particle B. B -Particie C. y -Particie D. All of these
(x) Which of the following separates the outer ear from the middle ear?

A Cavity B. Eardrum C. Oval window  D. Diaphram
(xi) Measuring units of nuclear radiations is: ‘

A Curie B. Newton C. Watt D. Rem
(xii) Documents in telex machine are sent through:

A Sound B. Heat

C. Telephone cables D. Radio waves

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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Time allowed: 2:40 Hours

PHYSICS SSC-II
(Ol Syllabus)

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines, (11 x 3 =33)
(i) What are the factors on which time period of simple pendulum depends?
(ii) Why is lightning visible earlier than thundering?
{iif) What is Stroboscope? Write down its function.
{iv) Define Spherical mirrors. Write down its types.
{v) Why are convex mirrors fixed an very sharp turns of the roads of the mountains?
(vi) How can the defect of chromatic aberration be minimized?.
{vii) How is the electrostatic phenomenon used in painting of a car?
(viii)  Define commercial unit of energy and prove that 1kWh=3.6MJ
(ix) Why is high resistance used to convert a galvanometer into a voltmeter?
(x) How is polarity of a solenoid determined by right hand rule?
(xi) Find the mass of a body from which 1.35x10"*J of energy is obtained?
{xit) Describe Doping process.
{xiil) ~ What is the difference between analogue and digital electranics?
{xiv)  Why are compact disc and hard disc housed in a jacket?
(xv) How can the depth of the ocean be measured?
SECTION — € {Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Derive Concave mirror formuta. (04)
Define wavelength and frequency and prove that v= f2 {03)
c. The power of a convex lens in 10 D. At what distance the object should be placed from the lens
so that its, real and 3 times larger image is formed? (03)
Q.4 a Three resistances are connected in parallel. Draw circuit diagram and write down its
characteristics. (04)
b. State Coulomb’s law and write its mathematical form. (03)
c. An electric motor is running with 220V, 1.5A. Find the energy supplied by it in kWh in 5 hours. (03)
Q5 a What is meant by Fission chain reaction? How can it be controlled? (04)
What is semi conductor diode? How it is used as a rectifier? Explain with diagram. (03)
A step down transformer changes 250 volt A.C in 6 volt A.C. If the number of turns in the primary
(03)

coil is 10,000 then find the number of turns in the secondary coil.
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